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FIGURE 3-10. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 12.70, 71 FOR VFR CONDITIONS.
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FI GURE 3-11.HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 13, 15 FOR VFR CONDITIONS.
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FIGURE 3-13. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 18, 21, 22 FOR VFR CONDITIONS.
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FIGURE 3-14. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 18, 23. 77, 78,92, 33 FOR VFR CONDITIONS.
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FIGURE 3-18. HOURLY CAPACITY OF RUNWAY-USE DIAGRAMNO. 20 FCR VFR CONDITIONS.
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FIGURE 3-20. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 32, 33 FOR VFR CONDITIONS.
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MIX INDEX -- PERCENT (C+3D)

e ——

TOUCH 2 GO FACTOR T

i farcenc

“ouch & Co »‘2‘:’:.&21‘:‘33;! TOCCH & 33 racTaa =
3 o i .36
I 10 0 ez "9 ‘ 1.32
| 11 c0 28 30 %0 l 1.3
l. 21 =0 30 9 =0 0 1.29

! 1
NC' X T x E = Hourly Capacityl

EXIT FACTOR E

= r <.

1. Outermine ‘exit cange for appropriate mix iadex ‘rom table Selow

2. for arrival cunways. letermine the average umber of exizs(N} wihich
are: (a) within appropriste exit Tange. and {d) separated Sy ac
least 750 feet

3. If ¥ 1s & or sore. Ixit Pactor = 1.00

¢. If % i3 lese than 4, dstermine Exit Faczor ‘rom sable delow for
appropriacte mix index and percent srrivals

Zxit Range Ex 12 P A2 =

"x Index-- YT z R P

Percencicorm | (Fees trom [Tg =G Arzizaia - SI% Aeriwa
thresnold) Ny ‘ FISELT] ‘ NeQ | Nei | N2 Nel § Nw2
< 04— =
3 %0 2 {000 tc 4000 {3.52]0.7940.30§0.62§0. 312, 08.5519.-3{C. 30
21 w0 S0 | 3000 =0 5500 |0 0.5319.91f0.72{0.23{9.53
51 =0 30 | 1500 zo 5390 5.3s40.22f."s{c. 3aff0. 92
32 ze 120 | sage =0 Too0 0.3710.34 0. 90{0.37{l0. 3¢
121 o 20 | 5590 20 g0 | sloaslsavie-ssisraslonss

FIGURE 3-21. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 34,35 FOR VFR CONDITIONS.
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MIX INDEX -- PERCENT (C+3D)

TOUCH &860FACTORT

Tu’:::.:‘"k ?:*‘:':m:;, TOUCHN&GG o PACTOR T
) 0 zo 130 t.20
1 to 10 oto 70 1.93
11 to 20 0 70 1.39
21 to 3o 0 eo 40 1.4

.
ll'l" C* X T x E = Hourly Capacity]

g

EXIT

To jecermine Zxit factor f:

1. Determine exit ranqe f0r appropriate maix !ndex ‘rom table delow

2. =00 arrivalrunways, determineczhe ® <0000 aumber 00X extits(N)which
-are: (a) wiethin @ pproprirts exit range. and (D) separated by at
leasc 730 Zeec

3. If Nis 4 or more. Zxiet Factor e 1.00

4 If v is less znan ¢ dstermine Sxit Factor from =able below f o r
® pproprtrtm mix i{ndex and percent arrivals

FACTOR E

. £z1t Rwnge ZXIT PACTOR ¢
Parcent CiiDy)|| (reec from TI5% Arriveis T 30V Atcivals T I8 Arrivelis
thresnold) [ROT| Nel | Vw2 | Nwd | N=1] =2 -c-o’ Nel | o2

or 3 or 3 or 1

Yt 20 2000 o 4800 §3.76{0.38)3.96|3. 2]C.36}3.94{0.5413.32}2.33
21 o s6 3000 o $300 {0.33]0.3019.3¢}0.30{3.3810.95]0.2}2.33}0.9)
sl =0 30 3500 zo 5500 10.9%10.31{0.3%{2.32{0.39{3.95§0."5}0.34{0.72
31 zo 120 $300 o 200 {3.3%{0.33}0.37]3.37}0.33]3.%6 3.-;1!:.37 9.94
121 =0 150 $$00 <0 %50 10.34{3.3812.3913.32{4.3713.99)2.2419.35}2.38

FIGURE 3-22. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 36 - 38FOR VFR CONDITIONS.
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HOUIRLY CAPACITY BASE

206080100~ T20 12071607180
MIX INDEX -- PERCENT (C+3D)

TOUCH &

GO

FACTOR

T

Percent
Touch & Go

ni x | ndex--
Percent (C+3D)

TOUCH

&« GO

FACTOR T

0
1to 10
11 to 20
21 to 30

oto
0 to
0 to

0 tof

180

70
70
40

1.00
1.03
1.10
1.18

.2

0=

X T Xx

Hourly Capacity I

E
Z

EXIT

TO setermine EXIT FactorE:

FACTOR

Determine exit range for appropriate mix index from table below
2‘ Por arrival runways, - determine the average nunber of exits(N) which

are: (a) Wi thl n appropriate exit range,

least 750 fe

3. If
4 IENis

| ess than 4,

N is 4 or more, Exit Factor =

determine Exj t
appropriate mix index and PEICEN

1.00

arri

and (b) separat

ed by at

val's

Factor from tabl e bel ow for

Mix Index--

Percent (C+3D)

EXlt Range
(Feet from
threshol d)

EXI

T FACTOR E

Arri

al 8

508 [Arri

al s

[0

N1

N-2
or 3

N-O[ N=1

N-2
or 3

N-O

0 to 20
21 to 50
51 to 80
81 to 120
121 to 180

2000 to 4000
3000 to 5500
3500 to 6500
5000 to 7000
5500 to 7500 -

0. 88
0. 90
0. 91
0. 93
0.98

0.94
0.96
0.95
0.97
0.99

0.72
0.80(0.88
0.820.89
0.87(0.91
0.9210.97

0. 86

0.94
0.95
0.95
0.96
0.99

0.64
0.72
0.75
0.81

0.89

FIGURE

3-23,

HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NO. 39

For VFR conpiTions,
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380,
340

3
S

HOURLY

CAPACITY BASE ©*

~PERCENT ARRIVALS

o
=

(OPERATIONS PER HOUR)

(=)

HOURLY CAPACITY BASE (C*)

80100~ 120120160t
MIX INDEX -- PERCENT (C+3D)

TOUCH &

GO

FACTOR

T

Peroent
Touch & Go

Ni X Index--
Percent (C4+3D)

TOUCH

&« GO

FACTOR

0
1to 10
11 ¢o 20
21 to 30

130
70
70
40

1.00
1.03
1.10
1.18

= Hourly Capacity

EXIT

To determine Exit Pactor E:

FACTOR-E

1. Determine exit range for ® pproprhto mix index from table below

2. Por arrival runways, determine the © verage m-b.r of exits(N) which
are: (a) within appropriate ® xitrange , and (b) ® eparated by at
least 750 feet
I£ N is 4 Or more, Exit Pactor = 1.00

If ¥ is less than 4, determine Exit Factor from table bel ow for
appropriate nix in&x and percent e rrivalr

Exit Range le,'!‘ PACTOR

Mix Index--
Percent (C+3D)

om_ 408

Ar

al8 | 50Y%

Arri

vals

0%

(Peet 24
threshol d)

N-O[ N+

NZ
or

N-Of Nel

N-2

N-O [N\

oto 20
21 to 50
51 to 80
181 to 180

2000 to 4000
3000 to 5500
3500 to 6500
560D to 7060

0. 76
.83
0. 85
0. 7%

0.

.90

0. 91
93

0. 94
.96
0. 95
0099

0.727]0.86
p.80 [0.88
0.820.89
0.87 (0.97

or 3
0.04
0.95
0.95
0.98

0.64
0.72
0.75
0.89

0.94] 0.99.0.92

FiclREe 3-24. HOWRLY CAPACITY OF RUNWAY-USE DIAGRAM No. 40 ror VFR  conpirions,
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HOURLY CAPACITY BASE (C™)
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NIX INDEX -- PERCENT (C+3D)

TOUCH & GO FACTOR T

e | i | Toven « 0 0 racron
Y U to 180 1.00

1to 10 oto to 1.03

11 to 20 oto 70 1.10

21 to 30 oto 40 1.18

b 4
|||I" C* X T x E =Hourly Capacity
Z 3

EXIT FACTOR E

To setermine EXI T ractor:
1. petermine exit FANJE for appropriate mix index fromtable bel ow

2. porarrival runways, determine the average number of exits(N) whi ch
are: (a) within appropriate €Xit range, and (b) separated by at
least 750 feet

3. If Nis 4 or more, Exit Factor = 1. 00

4. |f Ndis less than 4, determine Exit Pactor from tabl e below for
appropriate mix index and percent arrival8

ix Ind Exit Range EX|T FPACTOR E
nixlnoex. (reet from | Z00JArrijals | SOV[ATials |08 Nrivals
Percent(C+3D) | {hreshol d) [TFO| N I[ N2[ N0 [N T [N 2 [N O[neT [N 2
r 3 or 3 or 3

0
0 to 20 2000 to 4000 |0.75]0.88]0.94]0.72]0.86]0.93]0.69]0.84]0.92
21 to SO 3000 to 500 |0.82]0.89]0.96]0.79]0.87]0.95]0.770.86|0.95
51 to 80 3500 to 6500 |0.84|0.90]0.95]0.81]0.88|0.94]0.79]0.87]0.94
81 to 120 5000 to 7000 |0.88]0.92]0.96|0.86]0.90]|0.95/0.85/0.90]|0.96
121 to 180 5500 to 7500 §0.92]0.960.97]0.89]0.9410.96]0.90§0.960.98

FiGURE 3-25, HOURLY capaciTy oF Rrunwav-use piacram no, 41 ror VFR CONDITIONS.

HOURLY CAPACITY BASE C*

TOUCH & GO FACTOR T

Percent Mix | N&x- - 4
“20 Touch & Go | Percent(C+3D) TOUCH . ‘ racronm °
U to 180 T.00
1tolo0 oto 70 1.04
11 to 20 oto 70 1.10
380 21 to 30 0 to 40 1.20
|-PERCENT ARRIVALS 31 to 40 oto 10 131
340 ' 41 to 50 0 to 10 1.40
~ [l
bd
S0
. - H
e JIII C* x T x E = Hourly Capacity
g7 i =
=3 it
Y
Z 220 5o EXIT FACTOR E
3 H .
28 60 TN TOsatermtneEXitFactor E:
% :180 -+ Il p - 1. Determine exit range for appropriate mix index from table below
[ r~3 T ] 1l 2. Por arrival runways, determine the average number of exits(N) uhich
P w 1 NI are: (2) within appropriate exit range, and (b) separated by at
29 TTTOHH least 750 feet
=140 ! . 1fN is 4 or more, Exit Pactor » 1,00
§ 4. If N is less than 4, determine it Factor from table below for
appropriate mix in&x and percent arrivals
100
. Exit Range EX1T
nix |ndex--
(Peet from | 408 [Arrivals | SO% ivals
60 Percent(c430) | [hreshol d) [Tt Of wet [N 21 Z [T o w1 W-g_—["_r-o w1[%T)
or or or
oto 20 2000 to 4000 J0.72]0.87]0.94]0.70]0.86]0.94 7]0.84]0.92
20 21 to SO 3000 to 5500 |0.79]0.86]0.94]0.76]0.84]0.93 2]0.81]0.90
0 Z0 40 60 80 100 120 140 160 180 51 to 80 | 3500 to 6s0 |o.79]0.86]0.92[0.760.83]0.910.73]0.81]0. 90
81 to 120 5000 to 7000 [0.83]0.89]0.93]0.80]0.87]0.94]0.77|0.86]0.93
MIX INDEX -- PERCENT {C+3D) 121 to 180 | 5500 to 7500 Jo.85)0. 030 98f0.81]0. 01f0. 97)0.78]0. 89]0. 07
r
FicRe 3-23. HOURLY CAPACITY oF runwav-use oiacram no, 42 ror VFR CONDITIONS.
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]

HOURLY CAPACITY BASE (C*)

£
<

N
(=]

20

0 20 40 60 80 100 120 140 160 18

NIX INDEX -- PERCENT (C+3D)

TOUCH & CO FACTOR T

Mix | ndex--
Percent (C43D) TOUCH & @ FACTOR T

0 to 180 1.00
0 to 70 1.03
8 to 70 1.06
o to 40 1.13
0 to 10 1.26
0 to 10 1.33

llll.[c' X T x E =Hourly Capacity

EXIT FACTOR E

To dstermine Exit Factor E:

Determine exit range for appropriate mix index from table below
Por arrival Ys, de ne the ge nurber of exits(N) which
are: {(a) within appropriate exit range, and {b) separated by at
least 750 feet

If N is 4 or more, Exit Pactor = 1.00

If ¥ is less than 4, determine Exit Factor from table below for
appropriate mix index and percent arrivals

Mix

Percent(C+30)| threshold) [N O [NT [N 2 [Ne0 [N T

Exit Range | EXTT FACTOR B

In&x-- | (reet from [4oM[Arri{als | SOB Arri\f_als SOM AT
Nez [FO [N
or 3 or3

[
21
51
81

121

to 20 7000 to 4000 |0.86[0.88[0.94[0.80(0.850.93]0.71[0.83
to 50 3000 to 500 |0.84 0.980.71]0.85]0.92 [0.71 |o. 85
to 80 3500 to 6500 |0.81 0.97]0.76[0.85]0.91 |0.75 |0.84
to 120 5000 to 7000 |0.83 0.95]0.800.86 |0.92 [0.80 0. 87
to 180 5500 to 7500 |0.93 1.00]0.84{0.94 {0.98 0. 850.94

Foke 3—27, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM Nos.: 43,49 ror VFR conpiTions.
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Yol
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(OPERATIONS PER HOUR)

N
Q

HOURLY CAPACITY BASE

£
(]

N
c)

40 60 80 ‘120 140 160 180
MIX INDEX -- PERCENT (C+3D)

TOUCH & GO FACTOR T

NIXindex--
Percent (C+3D) TOUCH & GO racrtor

0 to 130 1.00
0to 70 1.03
oto 70 1.10
0 40 1.17
oto 10 1.28
0t 10 1.36

R 2
l'lluc' X T x E = Hourly Capacity

i

1
2.

EXIT FACTOR E

To determine Exit Factor E:

Determine exit tango for appropriate M X Index from tabl e below

Por arrival runways, determine the average nunber of exits(N) which
are: (a) within ® OO000O0Ce4 N X4 range, and (b) separated by at
least 7so feet

If N is4 Or more, Exit Factors 1.00

If N is less than 4, deternine Exit Factor fromtabl e bel ow for
appropriate mix index and percent arrivals

Mx Index-- | (reet from
val § SO€JArrials
Percent (C+3D) | ¢hreshold) N7 [~no [ w=1] Nz

Exit Range EXI[T FACTQ

or 3 r

0
21
51
81

121

To 20 2000 10 4000 0. 95 |0.78 |0.86 |0. 94
to  so 3000 to 5500 0.97 |0.87 |0.92 0. 99
to 80 35S0 to 6500 1.00 |0.77 0.89 |0.97
to 120 5000 t0 7000 1.00 [0.81 [0.88 [0.93
to 180 5500 to 7500 1.00]0.84 |0.94]0.97

Chap 3

FIGURE 3-28, HOURLY CAPACITY OF HUNWAY-USE DIAGRAM NOS.: 44,50 FOR VFR conbmions,
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HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T

Mix Index--
120 ] Parcent (Cs3D) TOUCH & GO PACTOR T

0 to 180 1.00
H oto 70 1.03
ll oto 70 1.10
0% 40 .17

PERCENT ARRIVALS ot 10 1.28
[— oto 10 1.36

w
(]

IllllC' x T x E =Hourly Capacity

EXIT FactorR E

To determine Exit Pactor®:
1. Determine exit range for appropriate mix index from table below

2. Por arrival runways, determine t he average number of exits(N) which
are: (a) within appropriate exit range, and (b) separated by at
least 750 feet

3. If W is 4 or more, Exit Pactor= 1. 00

If M4s | ess than 4, determine Exit Pactor from table bel ow for
appropriate mix index and percent arrivals

(o]

~!
(e}

o
[om]

(OPERATIONS PER HOUR)

I
(]

HOURLY CAPACITY BASE (C*)

F3
(=)

Exit Range
nix Index=—- (Preet fra
30 Percent (C+3D) | ¢hreshold)

oto 20 2000 to 4000
21 to so 3000 to ssoo

0
0 20 4 60 80 100 120 140 160 180 210 0 | sese v 500

120 | 5000 to 7000
NIX INDEX -- PERCENT (C+3D) 121 to 180 | 5500 to 7500

2

FIGURE3-29. HOurLy CAPACITY orf runwav-use DIAGRAM NOS.: 45,51 rorR VFR conpitions.

HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T

Percent Mix Index--
120 Touch & Go | Percent (C43D) TOUCH & GO racronr

0 0 to 180 1.00
1 to 10 oto 1.03
110 11 to 20 oto 1.10
. 21 to 30 oto 1.19
- PERCENT ARRIVALS 31 to 40 L0 to 1.31
/[— 41 to so oto 1.40

W
(=]
T

k. 2
||l|" C* x T X E =Hourly Capacity
>

EXIT FACTOR E

[+
[as)
I

~
(=)

To determine Exit Pactor E:

1. Determine exit range fOr appropriate mix index from table below

2 For arrival runwaysdetermine ¢l © varage number of exits(N)which
are: (a) within appropriate exit range, and (b) separated by at
least /SO feet
If N4is 4 or more, Exit Pactor = 1.00

I M is less than4, determine Exit Pactor from table bel ow for
appropriate mix index and percent arrivals

[=a]
[a=)

(OPERATIONS PER HOUR)

w
(]

HOURLY CAPACITY BASE (C®)

£
(4=

Exit Range "£xIT FACTOR
Mix | n&r-- T Al
£ from 0 ATTVars
reent (C+3D) :hnc o als | S0% Arrivals

Ne2 | Nag | ¥=1 | Nw2 Ne2
or 3 or 3 oz 3
0 to 20 2000 to 4000 . . 0.92§0.70]0.84]0.92]0. - 0.91
21 to S0 3000 to ssoo 0.92|0.83|0.86J0.91 90

20 40 60 80 100 120 140 160 I 51 80 3500 to 6S00 0.96[0.79]0.88p .97 91

0
0

"n 5000 to 7000 0.980.80]0.86|0.92 0.92
MIX INDEX -- PERCENT (C+3D) 321 se 280 L $500 vo 7500 Jo. 1.00}0.s4}0_sel0.97 .07

AN
(=]

ny
(o)

“16ure 5-50, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS.: 45,52 FoR VFR conDITIONS,
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HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
Per cent Mix | ndex- -
120 Touch & Go | percent (C+3D) TOUCH &« GO FACTOR T
0 0 to 180 1.00
1 to 1 0to 70 1.03
11 to 200 0to 70 1.10
1o 21 TO 30 0to 40 1.19
l- PERCENT ARRIVALS 31 to 40 0to 10 1.31
100 /— 41 to 5§ 0to 10 1.40
- — —
L %0 / L -
@ _ B
3 | lll C* X T x E = Hourly Capacity
L 2 g0 =
(2] 7 8
=« H 3
E‘L7 EXIT FACTOR E
o 70 ]
— 2 1f . )
:{) o l'l 1, To deternine Exit FactorE:
o - 60 L T %E i 1. Determine exit range for appropriate nix index from table below
Sz \'5 2. For arrival runways, determne the average number of exits whi ch
o - Al T 4
w TN —— are: (a) within appropriate exitrange, and (b) separated by at
> a IR 6 least 750 feet
=2 50 imuu il NS NEEEEER )
S~ ¥ LIS 5 SELI A O I 3. 1f N is 4 Or more, EXit Factor = 1.00
o 4. IfNis less than 4, deternine Exit Factor fromtabl e bel ow for
= L}O appropriate mxi ndex and percent arrivals
Exit Range EXI|[T FACTO E
M X Index-- | (Feet from | 4OMJATTIVals | SOS[ATTIYalB | 608 [NTTVRIS
30 Percent(C+3D) [ threshold) [Neg [N=1 |Ne=z | N=0| NeI| Ne2| Neo| ®=3 W=

or 3 or 3 or 3

0 to 20 2000 to 4000 [0.73]0.88|0.95[0.71|0.87]|0.94/0.68(0.85/0.93
L PP IS U , 21 to 50 3000 to 5500 |0.89(0.92|0.95[0.87(0.90[0.94|0.84[0.89[0.94
020 40 o080 10U IZU 14U 10U 1 0 Sl to 80 3500 to 6500 [0.96[0.97/0.99/0.95[/0.96]/0.98|0.89[0.94]0.97
81 to 120 [5000 to 7000 [1.00(1.00(1.00[ 1.00 1.00[1.00]0.92[0.97|L. 00

MIX INDEX -- PERCENT (C+3D) 121 to 180 5500 to 7500 |1.00]1.00[1.00[1.00]1.00[1.00]0.84]0.94]0.98] |

Eicure 3-31. HOURLY capaciTy oF RuNwAY-use piacrAM NOS.: 47,53 FOR VFR CONDITIONS,

HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
120 -
1 = 1,00
110
[—— PERCENT ARRIVALS
100
N /
&, . 90 . -
~ B _ -
s B [ I'llC’ X T x E = Hourly Capacity
w B
g o - —&
=5 [T
a.
> T EXIT-FACTOR E
=ow 70
2z .
::) <] t J[ To_det erni ne Exit Factor E:
% [ 60 % A 1. Dpetermine exit range for appropriate mixindex fromtable bel ow
[y é -y _'qo i TT I 1- 2. For arrival runways, determine the average npmber Of exits(N) which
w \50 K e, T 1 are: (a%w thin appropriate exit range, and (b) separated by at
> g BRENI least 750 feet
%v 50 - - 3. If Nis 4 or more, Exit Factor = 1.00
o bo 4. If N is 1ess than 4, determne Exit Factor from table bel ow for
x= | appropriate mix index and percent arrivals
40 H st
Mx | ndex..- Exit Range EXIT FACTOR E
percent (ca3py| (Feet from {408 Arrivals [ 50% Arrivals €0t Arrivals
30 threshold) N=0 || N=1 [|[N=2 ]| N=0 Nw@ [[N=) § R=2
lor 3 r 3
0 to 20 2000 ¢o 4000 Ho.74fo.88ljo.9s]lo.72}0.87(0.940.65(fo.85]0.93
20 21 to S0 000 to 5500 [0.90(0.93]0.97|0.88]0.91]0.95(0.860.90]0.99]
9 20 40 60 80 100 120 140 160 180 51 to 80 3500 to 6500 |0.97[0.98[1.00]0.95[0.96|0.98]0.92[0.97]0.99
81 to 120 5000 to 7000 |1.00[1.00]|1.00(1.00f1.00|1.001.00|1.00)1.00
MIX INDEX -- PERCENT (C+3D) 121 to 180 I5500 to 7500 |1.00{1.00]1.00]1.00[1.00[1.00]1.001.00f1.000

F16URE3-32, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NO. 48 For VFR COND1FIONS,

Chap 3
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HOURLY CAPACITY BASE C°* TOUCH & GO FACTOR T
Percent ni x | ndex--
1420 Touch & Go_|percent(cespy| ' OUCH & GO racror T
0 0 to 180 1. 00
. 1to 10 0to 70 1.04
380 11 0 20 0 to 70 1.10
21 to 30 oto 40 1.20
-PERCENT ARR IVALS 31 to 40 oto 10 1.28
340 ] 41to 50 0 to 10 1.36
- / — —
©.300
~x - f
2 IIII C* X T x E = Hourly Capacity
w €
g 2260 =
a5 H
a
> EXIT FACTOR E
= 220K A
2 Cz> . '™ TO determine EX'tP.ctoﬂ::
% :180 H' 1. Determine exit rangefor @ ppropriato niXx indexfrom table bel ow
[ § = 2. Por arrival runways, deternine the average number of exits(N) which
w : - 'Q are: (a) within appropriate exit range, and (b) separated by at
: g i 0 - least /50 feet
ZECI40E = 3. If N 4s 4 Or more,Exit Pactor=1.00
[=1 = = 4 If Nis less than 4, determine Exit Factor from table below for
= = T appropriate M x index and percent ® rrivbir
100 6 :
H H Exit Range , ExIT FACTOR E
T N X Index—- | (reet from | 408 [Arrivals | 508 [arrivals | 608 [Aerivals
60 Percent(C+3D) | threshold) [NO| NT| N4 NG Nel N2| N-O| N1 |N2
or 3 or 3 or 3
0 to 20 2000 to 4000 P.86 P.87 .94 [0.82 [0.85 [0.93 |0.77]0.84]0. 92
20 21 to so 3000 to 5500 P.88 P.91 .96 [0.73 [0.86 [0.94 [0.73|C. 86 |0.94
0 20 40 60 80 100 120 140 160 I 51 to 80 | 3500 to 6500 P.84 p.87 .93 [o.78 Jo.87 [0.930.78 [0.87 [0. 93
81 to 120 5000 to 7000 P.83 P.90 P.96 |0.83 Jo. 90 [0.96 |0.83]0.90 |0. 96
MIX INDEX -- PERCENT (C+3D) 121 10180 |5500 to 7d1.00f1.00]0.0p olo7 | 00]o.920.971 00

FIGURE3—33, HOURLY caPACITY OF RUNWAY-USE DIAGRAM NOS.: 55,61 ror VFR conpitions.

HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
20
T=1.00
380
1 1 [-—PERCENT ARRIVALS
340 -
€300, »
3 ll'l" C* X T x E = Hourly Capacity
& 260 —
n
= 32 T A
L1
,>_-°' [ EXIT FACTOR E
= 222(1
=3 T TO aetermtnerxit ractore:
& )—180 1. Determine exit vange for appropriate mix i ndex from table bel ow
(= é 1 2. rox arrival runways, determine the average number [1xX @ xft8(N) which
w LAl re: (&) within appropriate exit range, and (b) separated by at
:g H 050 s Ieast 750 feet
Z.2 1400 Ty I 3. If Nta4 OF more, Exit Pactor= 1.00
(=3 0 - 4, Ifmis less than 4, determine Exit Practor from table bel ow for
x N - appropriate mix i ndex and percent arrivals
1004 ST 1 60,
1 . Exi! EX|{T FACTOR E
”l IRANS! Mix b&Bx (F.:e?:ﬁ-' 408 Arrl\]_ls 508 [Arri al1s |60 ArTi VRl S
60 Percent(C43D) | threshol d) [N-O[ ne1 N-C| W=l N2| ®=0] Nt |[®eZ
or 3 or 3 or 3
1 0 to 20 2000 to 4000 p.79 P.89 |0.95 [0.76 [0.88 [0.95 [0.74[0.86[0.94
20| 21 to 50 3000 to 5500 P.96 [t.00 |L.00 f0.91 [1.00 |1.00|0.78]0.92 (0.97
0 20 40 60 80 1{‘0 120 140 160 180 51 to 80 3500 to 6500 .93 .96 [1.00 [0.80 [0.90 |0.97 |0.78]0.87(0.93
81 to 120 5000 to 7000 .93 .96 [1.00 [0.83 [0.90 |0.96 |0.83]0.90 (0. 96
MIX INDEX -- PERCENT (C+3D) 121 0 180 ] 5500 to 7500 .97 .99 f1.00 Jo.93 fo. 971 00]0.92]0. 971 00,

FIGURE >-34, HOURLY CAPACIT: OF -RUNWAY-USE DIAGRAM No, 56 For VFR conpiTiONS,

Chap 3
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HOURLY CAPACITY BASE

HOURLY CAPACITY BASE C'

220

200

- PERCENT ARRIVALS

—
o
(5]

[n
£
(o)

(OPERATIONS PER HOUR)

AC150/5060-5

_TOUCH & GO FACTOR T

Xi x | ndex--

Porcent (C+3D) TOUCH ¢

FACTOR

180
70
70
40
10
10

E = Hourly Capacity

Z

EXIT

To deternine Exit Factor E:
1. Determine exit range for appropriate mix index from table below

2. ror arrival runways, deternmine the average number of exits(N) which
are: (a) wWithin appropriate exit range, and (b) reparated by at
least 750 feet

3. If nis 4 or moeExit Factor s 1.00

4. 1f N is less than 4, deternine Exit Factor
appropriate mx index and percentarrivals

FACTOR E

from table below for

txit Range EXI|[T FACTQ(Q

Xi X Index--

AV AT Jals | SOIJATIJals

Percent (C+3D)

(reet from 1
threshol d) T 2 NO T NT| n=2
or 3 or

0 20 40 60 80 100 120 140 160 180
MIX INDEX -- PERCENT (C+3D)

9 0.p5 0./81 0./88 0
0 1./00 0.[98 1|00 1
8 1.00 0.[87 097 1
00 O
00 0

0 to 20 200 to 4000 O. 0.
21 to 50 3000 to 5500 1.(0 1.
51 to 80 3300 to 6500 0.95 0.
81 to 120 5p00 to 7000 0.[95 0.|9
121 to 180 H500 to 7500 0.|97 1.[00

90 (.97
95 1.00

Fieure 3—35 >

HOURLY CAPACITY OF RUNWAY-USE DIAGRAM

NOS. I

57,63 ForR VFR

CONDITIONS,

(%]

HOURLY CAPACITY BASE

(OPERATIONS PER HOUR)

HOURLY CAPACITY BASE G*

TOUCH T

220

& GO FACTOR
Per cent Xi x Index--

Touch & Go | Percent (C+3D) ToucH & ©co
0

FACTOR T

200

- PERCENT ARRIVALS

0 180
10 70
20 70
30 40
40 10
50 10

1 to
11 to
21

T Xx = Hourly Capacity

E
Z 3

[
(]
(=)

EXIT

FACTOR E

To deternine Exit Factor E
Deternine exit rangeforappropriate mix Index fromtable bel ow

For arrival runwFactor = the average nunber of exits(N) which
are: {a) within emine Exit Pact range, and (b) separated by at
least 750 feet A4 percent arris

MfNis tormor

If R {s less tha E X IExit Factor from table below for

appapspartatenceand 4Ow Arcivals Jpercentarrival8
Nw0 | N=1 | N=2
or 3l

T
T FACTOR E
Range
Mix Index-- Exlt e

(Feet from SO\ Arrivals | 60% [Arrivals
Percent(C+3D)| threshold) N=0 N=1| N=2 I Na0 1 Ne3
i or 3 or 3

oU oU IUU 1ZU 14U 10

MIX INDEX -- PERCENT (C+3D)

0 to 20 2000 to 4000 D.
21 to 50 3(00 to 5500 0.9
s1 to 80 35p0 to 6500 0.
81 to '120 5000 to 7000 O,
121 to 180 ssoo to 7500 0.

0. 75
5 0.
81 0]
. 83 (.
92 0

0. 88 0. 95 [0. 0.94
5 0.[98 0O .98
90 .96 0. 94
90 (.96 .96
97 1.00 1.00,

F1GURE 3-30., HOURLY CAPACITY OF HUNWAY-USE DIAGRAM

Chap 3

nos,: 58,04 ror VFH

CONDITIONS.
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40

9/23/83

MIX INDEX -- PERCENT (C+3D)

HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
Percent N X | né&x--
220 Touch & Go | Percent (C+3D) TOUCH & GO racror T
0 0 0 to 180 1.00
1 to-10 oto 70 1.04
200 11 to 20 oto 70 1.10
21 to 30 oto 40 1.20
- PERCENT ARRIVALS 31 to 40 oto 10 1.28
180 [] 41 to so oto 10 1.36
-~
* '
21600
3 [ / Illl C* X T x E =Hourly Capacity
s m—
177
2., 4
Mo
t“'.- EXIT FACTOR E
»120 I
Sz Y, -
< = b~ 40 | To determine Exit Factor E:
& ._100 0 - ;_ 1. Determine exit range mappropriate mx index fromtable bel ow
(o &( O 2. For arrival runways, determ ne theaverage nunber ofexits(N) whi ch
5. i 11T are: (a)within appropriate exit range, and (b) separated by at
g 1 T least /50 feet
=S 80 ] 1 3. «N is 4 onvre, Exit Factor= 1.00
g 4, If N isless than 4, determine Exit Factor from tabl e bel ow for
60 appropriate mix iexand percent arrival8
Exit Range EXI|[T FACTO E
P'“" Index-- (Feetfrgm 4OV [Arial8 | SOB[Arrivald | 608 [ArTTVals
40 ercent(C+3D) | threshol d) [eo | N=1 | N=Z | Ne0 [ Nel [ Na2 | N=0 | N=1 | N=2
or 3 or 3 or 3
0 to 20 2000 to0 4000 |0.78(0.80]0.95]0.750.88]0.95 [0. 72 0. 86 |0. 94
20 21 to so 3000 to 5500 |0.89]0.92(0.970.87(0.91]0.96 (0.86]0.90|0.95
0 20 40 60 80 100 120 140 160 180 51 to 80 | 3500 to6500 |1.00|1.00]1.00|1.00|1.00{1.300.920.99 1. 00
81 to 120 5000 to 7000 [1.00(1.00]1.00{1.00]1.00]1.00]0.90}0.97|1.00
MIX INDEX -- PERCENT (C+3D) 121 10180 | 5500 to 7500 {0.98f1.0011. 000 9811, 00l 000, 9210.9711. 00
FIGURE 3-37, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS.: 59,65 ror VFR conoitions,
HOURL®"Y CAPACITY BASE C* TOUCH & GO FACTOR T
220
[T T=1,00
e
2008117
=1 F-PERCENT ARR IVALS
1801811
— M
- 43
L. 160 [
L3, FANAT i |||I.| C* X T x E =Hourly Capacity
T 1401
[72]
=g HH
o
2120 \ EXIT FACTOR E
= Il .
: 5] 7 To determine Exit Factor E:
% =100 S X 1. Determine exit range fOr appropriate mix i ndex fromtable below
< , - i i : i
o - 2. For arrival runways, deternine the average number of exits(N) which
o> W are: (7%) within appropriate exit range, and (b) 8eparatcd by at
jarr} %’ (3 least /50 feet
= 80 3. 1fN4is 4 or moe Exit Factor = 1.00
(=} 1 4. I1fNis | a85 than 4, deternine Exit Factor fromtable bel ow for
= €0 appropriate nix index and percent arrivals
Exit Range EXI|T FACTOR e
Mix Index-- (Feet from [408JArrialb | SO8[ArriJalg | 608 [N Va5 | |
40 Percent(C+3D) | threshold) [N-Of N=1| N=2| N-O [N=1 [N=2 [N-O N2
or 3 or 3 or 3
0 to 20 2000 to 4000 [0.780.89[0.95|0.75]0.88[0.95[0. 72 0. 86 [0. 94
20 21 to 50 3000 to 5500 |0.87]0.92(0.97]0.85/0.91|0.960.83(0.90(0.95
0 20 40 60 80 100 120 140 160 180

51 to 80 3500 to 6500 |0.98[0 0alr anln.aaln aals anln a7ln 981,00
81 to 120 | 5000 to 7000 [1.00|0}2-0043.00{1.00{1.00{1.00}§1.0050 1 go
121 to 180 5500 to 7500 [1003.0942-00]1.00§1.00{0.92§0.37]2.00] ) 10 1.0

FIGURE 3-38. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM No. B0 For VFR CONDITIONS,

Chap 3
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HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
Percent Mx | ndex--
220 Touch & Go Percent (C#3D) Toucm ¢« G O racronr T
0 0 to 180 1.00
1to 10 oto 70 1.04
11 to 20 oto 70 1.10
200 ] 21 to 30 oto 40 1.20
- PERCENT ARRIVALS 31 to 40 oto 10 131
180 / 41 to so oto 10 1.40
o i / . 4
3’:2'16 u[ -
g N i, JIIIP C° x T x E = Hourly Capacity
w2 H 150
« T140 I
7= e =
- 2 ‘ PEs EXIT FACcTOR E
Z ,120 L i
2 g 5 To determine Exit Pactor E:
% :100 - 2 1. Dpeternine exit range X000 @ pproprhte mx in& fromtable bel ow
[ é 2. Por arrival Funvways, determine the average nunber of ® Xxit8(N) which
w are: (a) within appropriate exit range, and (b) separated by at
: % least 750 feet
%v 80 3. 1f N is 4 O more,Exit Pactor= 1.00
=1 4. 1fNisless than 4, determine CXit Pactor fromtabl e bel ow for
x 60 appropriate mix index and percent arrivals
N X Index Exit Range XX T rAcro'xT:
noex—~ Feet f tos [Arrivals | SOV [ArTi[val S| 608 [Arrival
40 vercent(coom | {[feshol's” RSP TH '% NO[NT N2 TR '23
or or or
0to20 2000 to 4000 [0.700.86]0.93]0.67[0.85]0.92]0.64]0.830.91 B
20! 21 to so 3000 to 5500 |0.961.00|1.00]0.91|1.00]|1.00]0.78]0.920.97
s1 to 80 3500 to 6500 |0.930.96]1.00]0.800.90]0.97]0.78]0.87(0.93
0 20 40 60 80 100 120 1"0 160 180 81 to 120 5000 to 7000 |0.93]0.96]1.00]0.83]0.90]0.96|0.83]0.90 [0.96
MIX INDEX -- PERCENT (C+3D) 121 t0180 | 5500 07500 [0.97]0.99]1.00f0.93]0.97]1.00]0.92]0.97]1. 00,

TIGURE 3-39. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM No. 02 FoR VFR CONDITIONS.

HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
Per cent Mix Index--
120 Tool o | e exiy| TOUCH & GO ractor T
0 0 to 180 1.00
1to 10 oto 70 1.03
380 11 to 20 oto 70 1.10
21 to 30 0 to 40 1.18
[—'- PERCENT ARRIVALS
340
T TR / ,
32300 ;
* - H
"3 I'l C* X T x E = Hourly Capacity
4 =
< uw
a.
= o920 EXIT Factor E
-z
= o 1y To_determine txit FactorE:
% =180 A i 1. Determine exit range for appropriate mix index from table bel ow
Ox '-50 1 2. Por arrival runways, determine the average number of exits(N) which
> w T are: (&) Wi thin appropriate exit range, and (b) separated by at
% TT = least 750 feet
E2140 501 Aan=_ 3. N8 4 0r more Exit Factor = 1.00
= s 4. If£N 1sless than 4, determine Exit Factor from table bel ow for
60 I appropri ate m x index and percent arrivals
100 o] i3l
| ndex Exit Range EXNI|T rFracToOoR E
Nix -- -
(Feet from [ 408[Arrifal8 | SOVJATrijals [608 AriVvRI S
60! Percent(C+3D) | threshold) [TFO[ NT| N2 N wei] N2 N-o%-l N2
or 3 or 3 or 3
O to2 0 | 2000 to 4000 |0.75]0.87]0.94]0.64]0.82]0.93]0.62[0.79(0. 90
20 21 to so | 3000 to 5500 [0.810.89]0.96]0.72]0.83]0.93]0.72]0.83 0.93
0 20 40 60 80 100 120 140 1o0 I 51 to 80 | 3500 to 6500 |0.810.90]0.95]0.750.84 [0.92 [0.75 0. 84 |0.92
81 to 120 | 5000 to 7000 |0.88]0.92]0.97 [0.81]0.870.94 [0.81 0. 87 [0. 94
MIX INDEX -- PERCENT (C+3D) 12110180 | 5500 to 7500 |0.93[0.97]0. 98 0. 89 ]o. 96 0. 98 [0. 89 ]o. 96 [0. 98

FicurRE 3-40, HOURLY capaciTY OF RUNWAY-USE DIAGRAM NosS.: 80,81,95,96 ror VFR conpiTiONS,

Chap 3
41
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HOURLY CAPACITY BASE C°* TOUCH & GO FACTOR T
Percent i dex--
420 Touch & co F’hé}xcen%n(é:m) TOUCH & GO FrACTOR T
0 0.to 1?% 1.00
1to 10 oto 1.03
380 11 to 20 oto 70 1.05
21 to 30 oto 40 1.09
I—-- PERCENT ARRI VALS 31 to 40 oto 10 1.15
3400 41 to 50 oto 10 1.20
5 / 2
8’;’” n - -
s { JIIIPl c° x T x E =Hourly Capacity
g - 250N Z 3
=¥ N
w
tk22 1 EXIT FACTOR E
%)
—
g zoz ) To determine Exit PactorE:
o :180 i1 1. Determine exit rangefor appropriate mix index from table bel ow
(&) é 1 2. For arrival runways, determine the average number of exits(N) which
w oy are: (a)_within appropriate exit range, and (b) separated by at
: 5 Smugk) = least 750 feet
gvlq 1 3. If Nis 4 or more, Exit Factor » 1.00
[=] oy 11 = 4. 1N is |ess than 4, deternmine Exit Pactor fromtable bel ow for
== appropriate mix index and percent arrivals
100 =
Exi t I%ng EX1T FPACTOR E
PM X Itndex-- (r«cf ITI[ «onarrivals | SOV Arrilvars | 608 | Arrifals | |
60 ercent (C+30) | threshol d) [Neo [ wel [N-2 | M=0 | Ne1 [N 2 |N-O [N=1 [N-2
or 3 or 3 or 3
0to 20 2000 to 4000 |0.62]0.79]0.90]0.62]0.79]0.90]0.62 [0.79]0.590
20 - 21 to 50 3000 to 5500 |0.72]0.830.93]0.720.83]0.93]0.72 |0.83]0.93
0 20 40 60 80 100 120 140 160 180 51 to 80 3500 to 6500 |0.75]0.84]0.92|0.75|0.840.92]0.750.84]0.92
81 to 120 5000 to 7000 |0.81]0.87]0.94]0.810.87]0.94]0.81]0.87 |0.94
MIX INDEX -- PERCENT (C+3D) 121 t0 180 ] 5500 to 7500 11.00]2.00§1.00f0.89 J0.96[0.98]0.89]0.96 f0.98

FIGURE 3-4l, HOURLY caPACITY OF RUNWAY-USE DIAGRAM NoS.: 83,84,98,99,102 ror VFR conpiTions.

HOURLY CAPACITY BASE €* TOUCH & GO FACTOR T
Per cent Mix | ndex- -
uzo Touch & Go Percent (c+3p) TOUCE &« G O racrox T
0 0 to 180 1.00
1to 10 oto 170 1.03
380 11 to 20 oto 70 1.05
1 21 to 30 oto 40 1.09
I—-PERCENT ARRIVALS 31 to 40 oto 10 1.15
340 41 (g so oto 10 1.20
1
;‘
L300 - ;
- _ .
3 I C* x T X E =Hourly Capamtyl
we l !
< *260
<
®
t“ZZG B EXIT FACTOR E
=2 i
28 L Zo determine Exit Factor E:
% 1:180 W 1. Determine exit range for appropriatenix index from table below
[ =3 EEE - 2. Por arrival runways, determine the average number of exits whi ch
o il b
w +—++ are: (8) W thin appropriateexit range, and (b) separated at
>a least 750 feet
Z£2140 n i i
. > - . If N is 4 or more, EXit Pactor = 1.00
=7 l!. T 4. If£Wis less than 4, determine Exit Pactor from table below for
= I 50 R appropriate Ni X index and percent arrivals
100 1 $ed ] vy
Exit Range EXI T PACTOR P
Mix '”dei'g') (Peet from [ 408 Arrivals] 508 Arrivals V_Arrivals
60 Percent(C+3D) | threshol d) [ap | wel | W=z [ N=0] w11 #oz [ We0 | W=l | =3
or 3 lor 3 or 3
0 to 20 2000 to 4000 [0.62[o.79]0.90]0.62]0.79]0.90]0.62 |0. 79 [0. 90
20 21 to SO 3000 to 5500 |0.72]0.83]0.93]0.72]0.83]0.93]0.720.83 ]0.93
0 20 40 60 80 100 120 140 160 180 s1¢o 80 [ 3500 to 6500 [0.750.84 |0.920.75]0.84|0.92]o.75 fo.84 fo. 92
81 to 120 5000 to 7000 |0.81)0.870.94]0.81]0.87]0.94]0.810.87]0.94
MIX INDEX == PERCENT (C+3D) 121 to 180 | 5500 to 7500 |0.89]o. 96 0. 980. 89f0. 96 Jo. 98 Jo. 89 fo. 96 Jo. 98

FIGURE 3-42, HOURLY CAPACITY OF RUNWAY-ust DIAGRAM nos.: 85,86,100,101 ror VFR conpiTions.
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AC 150/5060-5 CHG 2

100

HOURLY CAPACITY BASE C°

/—’- PERCENT ARRIVALS

(%]
[we]

-

3
§=50
=3

a
Ea 50
22 E

=
T
Sz W0
> a
=
ZS 30
=1

[
o

0
0 20 40 60 80100 120 140 160 180

MIX INDEX -- PERCENT (C+3D)

TOUCH & G2 FACTOR T

T=123

l'll";c' X T x E =Hourily Capacity

> 3

EXIT FACTOR E

To determing Txit Faceor T;

2. tot arrival cunways,
are: (a) within @
least 750 Zeet

3. IfN (s 4 Or more, Exit Factor = 1.90
4. If N is less =han 4, detemmine %xit Faczor from tanle delow for

pproprirte ex

1. Determine exit range 0T appropriate mix index from zable below

determine the average ~umner of exits(N) which
it range, @and (D) separated by at

appropriate max tndex and percen t arrivals
wix Ind Sxit Range EXIT PACTOR =
X ndeax=-— . T )
- {Paec from 40% Arrivala ; 0% Arrivais 308 Arzivals
P:.z::;nzt-(:o‘lm chresnold) NwQ | Nwl | N@2 | NwQ | Nel | Nw2 | N@Q | Nwf | N®=Q
2=43. ! or 3 or 3 or 3
J @ 0 2000 =0 4000 10.31C.9100.3610.33{0.35}0.9940.32{L.30]L1.20
21 =0 SO 3000 o 5500 [9.79(0.36{0.32{0.77{0.35]0.32{0.39{0.381.20
$1 = 30 31500 =0 £500 |0.31{0.97(0.33{0.77!0.33{0.31{0.30/0.28(1.30
2 =o 120 5000 =o 7000 (0.33(%.39]0.34{0.3010.36{0.92{0.33{0.31{0.57
121 -0 180 5600 =0 7500 '3.3619.3410.9810.3310.51/0.96}0.7910.39/0.3¢

FIGURE 343, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 1, 54 FCRIFR CONDITIONS.
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MIX INDEX -- PERCENT (C+3D)

TOUCH 8 GO FACTOR T

T =100

I'IHC' X T x E =Hourly Capacity

3
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FIGURE 3-44. HCURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 2,3.9,61-88,72-74,76, 77, 79, 80,
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FIGURE 3-45. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 4, 5, 75, 0 FOR IFR CONDITIONS.

FIGURE 346. DELETED

44 Chap 3



12/1/95

AC 150/3060-3 CHG 3

110
100
il - PERCENT ARRIVALS
vasd
. (/-
- . . A
O 80 P 80 S "
=] i T U = —eesenill RWIEE N1
§=70' :
m§ ‘Rﬂ IL
EWGO' = !
23
S50
o
2& w0
(=]
=
30
20
10

0 20 40 60 80 100 120 140 160 180
MIX INDEX -- PERCENT (C+3D)

T T
HOURLY CAPACITY BASE C°

—

TOUCH 8GO FACTORT

T=10

1113

- 2

X T x E
N

c. -

Hourly Capacity]

to determine Sxit Factor 2@

EXIT FACTOR E

1. Determine exit range X’'00 @ pproprirto nix tadex fromeanledbelow

3. Porarrivalrunways,decsrainethe ® veragenumber ofe [(}¢XICEO which
are: (a) wvitnin appropriace © xit range, and (b) separaced dy at
least 750 fset

J. If N is 4 or more, Zxit Pactor = 1.00
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atx Index-- | EXit Range TXIT PACTOR E®
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NewQ || Nl [ Na2 | Nag [ Mu)l | Ne2 | W8 | Nel | Nel
or 3 or 3 or 1
¢ to a8 2000 to 3500 J0.95{u.08f1.30{0.95(8.99fs. 0041.00{1.004:.00
22 e 40 3009 to 5000 {0.92f10.9711.00{0.90)0.98]1.0040.5841.00§1.0¢0
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71 to 120 5000 to 7000 [0.94}0.53):.0010.92]0.9¢{1.00 Jo.54 {0.99F1.00
ux:o_u_g_ 3500 o 7 Sepbllonolll 0000 9310 0a}1l 00 g.90j0 9751 00

FIGURE 347. HOURLY CAPACITY OF RUNWAY-USE DIAGRAMNO. 7 FOR IFR CONDITIONS.
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4. IZ ™ {s less than 4. Jetermine EZxit Pactor [from table delow for
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N Index-- Exit R‘?q. 4= i : A<c =2 la \:Atrk‘l L] I
“ AR | il R T i
or 3 or 3 or
3 to 20 2P00 o 4P00 0.39 1.20 }0.39[0.39 1.30[1.90[0.38[0.39[1.3
20 21 to so 1000 to 5300 0.95 0f 38 9930.93 0.38 |0.39|0.31 (0.37 |0.39
o) 1 to 3500 to . i . .34 0.39 |1.30(0.92]0.38(1.30
0 20 40 60 80 100 120 1u0 160 180 :x t:e ‘.3:0 4000 t-_o 57%% %.’3:3 23:; .33: . :4 ggg 1.300.33 [0.99[1.20
MIX [NDEX -- PERCENT (C+3D) 121 to 180 €300 =0 "50010.30 1,301.50 t0.3510.351.90 |1.30{0.34]0.39/1.30
FIGURE 348. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NO. 8 FOR IFR CONCITIONS.
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FIGURE 3-49. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NO.?29 FOR IFR CONDITIONS.
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FIGURZ 3-50. HOURLY CAPACITY QF RUNWAY-USE DIAGRAM NOS. 11, 70 FORIFR CONDITIONS.
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FIGURE 3-51. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 12,71 FOR IFR CONDITIONS.
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FIGURE 3-52. HOURLY CAPACITY OFRUNWAY-USE DIAGRAM NOS. 13,16, 24, 27 FOR IFR CONDITIONS.
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FIGURE 3-53. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NO. 21FOR IFR CONDITIONS.
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FiGURE 3-54. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS. 15, 28 FOR IFR CONDITIONS:
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FIGURE3—55, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS.: 18,22,25.31,35 FOR | FR CONDITIONS,
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1. Determine exit range for ® pproprlate mix i ndex fromtable bel ow

2. Por arrival runways, determinethec average nunber of ® xitn(N) which
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FIGURE 3-55. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM nos.: 19,25 ror | FR  conoimions,
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FicurRe 3-57, HOURLY CAPACITY OF RUNWAY-USE

DIAGRAM nos.: 78,81,86,93,96,101 For IFR CONDITIONS,
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. IfWis 4 or nore, Exit Pactor = 1.00

If Wis | 0SS than 4, determine hit Factor from table below for
appropriate mix index and percent arrivals

Mix Index— n(nemfm le‘; rnc:.o':
Feet KD Arrinl- S |Arriva.
Percent (C+3D) threshold) =0 T woi =0 Twel

3] or3
oto 20 2900 to 4000 [0.98]1. 00 .98]1.00]1.00
21 to 50 J000 to 5500 |0.90]0.96]0. .90]0.96]0. 98
51 to 80 00 to 6500 |0.91]0.97 91]0.97]1.00

to 120| 5000 to 7000 |0910.98 1. 1 498 f.oo

121 to 18 5500 to 7500 |0 92[0 97 0.9p 0.9f.1.00

F 1 GURE 3-58, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM NOS.: 32-35,37-42 For IFR CONDITIONS,
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T=1,00

h. 4
IIII’[ C* x T x E =Hourly Capacity
r

Tde
1
2.

3.
4.

EXIT FACTOR E

termine EXI t PactorE

Determine exit range for ® ppropriate nix index from table bel ow

Por arrival runways, determine the average Number of exits(N) which
are: (a) within @ pproprlate exit range, and (b) separated by at
least 750 feet

If N4is 4 or nore, Exit Pactor = 1.00

i1t N is less t han 4, determine Exit Pactor from table bel ow for
appropriate nix index and percent arxivals

Mix | ndex--
Percent (C+3D) f'rﬂ';nﬁ;d )

Exit Range x|t PACTOR E

Arrivals | SO€ [Arrivals b0% Avri VRIS

Nel [N2 [NO[NT N2 [NO|NT N2
or 3 or 3 or 3

0 to 20 2
21 to so 3000 to 5500 |oO. 0.99|1.000.91]0.99]1.00|0.921.001.00
51 to 80 3
81 to 120 5 olO 7000 |0. 0.98]1.00]0.91(0.97(1.00/0.910.97 |1.00

00 to 4000 1.00[1.00}0.99[1.00]1.00[0.98]1.00[1.00

500 to 6500 |oO. 0.98]1.00]0.90(0.97(1.00/0.92]0.99]1.00

121 to 180 5_1_00 t 0 7500 1.0011.0040.92 0.9110.9911.00

FIGURE 3-59, HOURLY CAPACITY OF RUNWAY-USE

DIAGRAM
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43,49,55 ror IFR CONDITIONS.

TOUCH & GO FACTOR T

T=1.00

E = Hourly Capacity

Z_

EXIT FACTOR E

To deternine Exit Factor E:

1
2

3.1,
4.

Determine exit range for appropriate nmix index from table below

For arrival runvaya, determine the average number of exits(N) which
are: (@) Wi thin appropriate exit ranqt, and (b) separated by at

east |f Nis 750 mowefeet EXit Factor e 1.00

If N is less than 4, deternine Exit Factor fromtable bel ow for
appropriate mix | ndex and percent arrivals

Perc

E
Mix | ndex-- NN
o (hfenolar [REBJATTYaIB | SR Val B, | 0N T,

Exit Range EXIJT FACTQR

q

ent (c+3p) Nel |[NF2 | NO

or 3 or 3

0
21
S1
81

121

to 20 | 2000 1w 4000 oo §.00]0.99 |1.00]1.00
to so OO0 to 5500 1.00]0.91]0.99]1.00
to 80 |soo O 6500 1.00]0.90 [0.97 | 1.00
to 120 [0 €O 7om 1.00]0.91 Jo.97 | 1.00
to 180 ;]$500 to 7500 1.00f0.92 0.99]1. 00

FIGurRe 3-00.
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MIX INDEX -- PERCENT (C+3D)

18

TOUCH & GO FACTOR T

T =1.00

Illl" C* X T x E = Hourly Capacity

EXIT FACTOR E

To determine Exit Factor E:

1. Determine €Xit rangeforappropriate mx index from table below

2. Por arrival runways, determine the average number of exits(N) which
are: (a) within appropriate exitrange, and (b) separated by at
least 750 feet
If N18 4 or more, Exit Factor = 1.00
If N is less than 4, determine Exit Factor from table below for
appropriate mix index and percent arrivals

Exit Range exr1T FACTQR
Mix Index-- (Feet from [go8MJriVal8 [ 508 Ari
Percent(C+3D) | threshold) [Rwo [NFT [¥=2 [ N-O ®=1[N-Z[N-O
or 3
0 0 20 2000 to 4000 [o.99 [[. 00[1.00][c.99[1.00(1. .98
21 to SO 3000 to $500 [0.96 1.00/0.92(0.99(1. .93
51 80 3500 1O 6500 [0.93 1.00[0.90|0.97|1. .90

0

0

8l 5000 to 7000 [0.99 1.00(0.91(0.97]1. .91
121 180 5500 to 7500 [1.00 1.00[0.92]0.99]1. .92

FIGURE. 3-61,

HOURLY CAPACITY OF Rrunwav-use piacrAm nos.: 45,51,57 ror IFR  conpimions.
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TOUCH & GO FACTOR T

T=100

lll'"c' X T x E = Hourly Capacity
Z

EXIT FACTOR E

To determine Exit Factor E
1. Determine exit range for appropriate mix Index from table below

2. For arrival runways, determine the average number Of exlu(Né hich
art: (@) within appropriate exit ranqgc, and (b) separated by f
least 750 feet

3. If N 4 or more, Exit Factor = i.00

4. If N is less than 4, dstermine Exit Factor from table below for
appropriste mix index and percent arrivals

Exit Range EXIT FACTOR E

Mix Index-- | (reet from [ 40V Arrivals | 50V Arrivals | 604 Arrivals
Percent(C+3D)| threshold) [Wwg [nel[Nez | Ne0] N=1] W=7 | N=0 JN=1] Ve
or 3 or 3 or 3
6 to 20 2000 to 4000 Jo.94 [0.95 [1.00[0.99[1.0n[1.c0[0.98[1.00 [1.00¢
21 to SC 3000 to ssoo |0.9s §.98 |1.00|n.93(0.99(1.00/0.93 [1.00]1.00

0.
0. 1
Sl to 80 3500 to 6500 |0.92 P.97]1.00(0.90[0.97]|1.00]0.90 [0.98 |1.00
0. 1
0. 1

81 to 5000 to 7000 [0.96 [0.98[1.00]0.910.97(1.00 9110.97]1.00
121 to 5500 to 7800 f0.98f) 00f1.00§0.82J0.99§1.00 92]0.99}1.00

52. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM Nos.: 46,52,58 Fo0R [FR CONDITIONS.
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HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T
100

T=1.00
90

r~— PERiZENIT ARRIVALS

o
(=]
SN

™~

L
// ||||" C* X T x E = Hourly Capacity

60 ymm e 13 i l
isansunng /) I
50 - = EXIT FACTOR E
3 ‘ 0 t To determine Exit Factor E:
u0 % 1 IH '{ 1. Determine exit range for appropriate nix index from table below

2. ror arrival runways, deternmine the average number of axing«) whi ch
are: (a)within appropriate exit range, and(b) separated by at

I east 750 feet

1£Nis 4 or nore, ExitFactor = 1,00

4. IfNis less than 4, determine Exit Factor fromtable bel ow for
appropriate mix index and percent arrivals

(OPERATIONS PER HOUR)

W
<

HOURLY CAPACITY BASE (C*)

Mix | ndex-- E;i.[csafrr]gri (XY I:I>8< T50\ - rAl CaT R\ - T al s

10 . Percent (€430) | threshol d) [Fep [Nel [N=z [Ne0 [N=1 =2 N O [N=1
or 3 or 3 or_3
O to 20 | 2000 T 4000 [1.00|L. 00| L 001, 00| 001 00]0. 98 |L. 00]L.00
0 21 to so | 3000 to ssoo |1.00(1.00]1.00{0.97]1.00(1.00]0.91]1.001. 00
0 20 40 60 80 100 120 140 160 180 s1to 80 3500 to 6500 |1.00(1.001.00]0.941.00]1.00]0.920.99]1.00
81 to 120 | 5000 to 7000 |1.00|1.00]1.000.98]1.001.00]0.91]0.97|1. 00
MIX INDEX -- PERCENT (C+3D) 121 to 180 | 5500 to 7500 {1.00|1.00]1.00/1.00]1.00]1.00]0.930.09]1. 00

EFicure 3-63. HOURLY cAPACITY OF RUNWAY-USE DIAGRAM NOS.: 47,59 ror TFR  cownoitions,

HOURLY-CAPACITY BASE C* TOUCH & GO FACTOR T
100
T=1.00
90
= PERCENT ARR IVALS
80 []

~
L. 70 ¥

g llll"z' X T x E = Hourly Capacity
wl - y
Lo 60 ; smamunlinn, r .

w

T

> & of S 40 EXIT FACTOR E
£ » 50BS
< § in } no>==aa st C 0! HHHH To deternine Exit ractorE: ‘ o
o j- I L8 ENEE LN Ty 1. Deternmine exit range for appropriate nix index from table below
< g 40 I 1 INEFANNSENES ENNE 16 - : .
[ 2. Forarrival runways, determine the average nunber o exits(N) which

w ae: (@) W thin appropriate exit range, and (b) separated by at
: % | east’ 750 feet
%v 30 3. If Nis 4 or nore, Exit Factor = 1.00
g 4. If N is less than 4, deternmine Exit Factor fom tabl e below for

appropriate mixindex and percentarrivals

20 i
Exit Range EX1T FACTOR E

Mix Index-- (Peet from A8 [AT1Jal 8 | S08v] Arnyals V [Arrivals
104 Percent (C+30) | threshol d) [Fmo [Nel [¥=2 [N-O [N=1 [N 2 | N0 | N=1 | N=2
or 3 or 3 Ors
0 to 20 | 2000 to 4000 [1.00]1.00[1.00[1.00(1.00[1-00[0.98 [1-00[1.90
0 21 to 50 | 3000 to 5500 [1.00(1.00]1.00{0.97]1.00{1.00]0.91]1.00|1.00
0 20 40 660 83B0LAD0120 1240 16 180 Sl to 80 | 3500 to 6500 |1.00(1.001.00[0.94]|1.00[1.00]0.92[0.99[1.00
81 to 120 5000 to 7000 [1.00]1.00(1.00/0.98|1.00/1.00(0.91(0.97]|1.00
MIX INDEX -- PERCENT (C+3D) 121 to 180 | 5500 €0 7500 1.00]1.00{1.00/1.00{1.00]1.00f0.93f0.99]1.00

FicurE 5-O8, HOURLY CAPACITY OF RUNWAY-USE DIAGRAM Nos.: 48,60 ror IFR conpiTiONS,
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HOURLY CAPACITY BASE C* TOUCH & GO FACTOR T

T=1.00

- PERCENT ARRIVALS

~
(o]

X T x E =Hourly Capacity

-~

1 c
EXIT FACTOR E

To determine Exit Factor E
1. Determine exit range for appropriate mix index from table below

2. Porarrivalrunways, determine the average number [7x ® xit8(N) which
are: (a) within appropriate exit range, and (b) separated by at
least /SO feet
If N4is 4 or more, EXxit ractor = 1.00

IfNiS less than 4, determine Exit Factor mmtable below for
appropriate nmx i ndex and percent arrivals

o
[ ]

n
(=]

e
-

(OPERATIONS PER HOUR)

W
(=]

HOURLY CAPACITY BASE (C*)

N
=]

Mix Index-- Exit Range EXIT FACTOR P

(Feat fzrom als | 508 Arxivals [
Percent (C+3D) threshold) Ieos T3

N=Q { Nwl ] N=2 | NaQ
ox 3 or 3

¢ to 20 2000 to 4000 . . 0.96]0.83 D.95¥0‘.99 0.92
21 to S0 3000 to ssoo 10. . 0.9270.7770.8570.9210. 89

l;( oU oU IUU 1ZU I 160180 51 to 80 3500 to 6500 |0. .87(0.93]0.77 [0.83 0. 91 0. 90
[ NDEX -- PERCENT (C+3D) 81 to 120 | soootO 7000 |1.00]1.00 (1. 00]0.98]1.00]1.00]0. 01

121 to 180 $500 to 7500 |1. R 1.00]1.001.0041.00J0.92

FiRe 3-05. HOURLY CAPACITY OF RUNWAY-USE DIAGRAM No. D3 ror IFR  conpiTions.
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